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Honors Geometry Name:

Chapter 6 Review

1. Find the measure of each interior angle in an equiangular decagon. (ro- 23(‘&} -—)‘itl_o_)

2. Find the sum of the measures of the angles of a pentagon. (5-2D0180) = {EL_’B_/

—————

5
3. Find the sum of the measures of the exterior angles of a 30-gon. ’ 3L0° ‘
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17 = W =2
5. Find the measure of each exterior angle of a regular heptagon._Round to the nearest tenth. 3@0 51,42 9
f Bi-4°
6. Does there exist a regular polygon in which each exterior angle has a measure of 37°30"? a7.5n= (n-2H(%0
’ no }

4. If the sum of the measures of the angles of a polygon is 3060°, hmﬁmes does the polygon have? 3CLpo =Q\ -2)‘ SO
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1 42,5230 n=283
7. The measure of each exterior angle of an equiangular polygon is 13— How many sides does the polygon have?

N
127 5,¢co 135 Nn=3LC
8. The length of one base of a trapezoid is 19 inches and the length of the mldsegment is 16 inches. Find the length of the other base.

L35} A 2=l

For numbers 9 & 10, give the most descriptive name for each polygon. ) 2 e &
ldn = 271180 x H1=32
9. Each interior angle is 144°. qi{\ = V;"Z L
b Vl = 1%Cn -
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10. The measure of each interior angle is 3 times the measure of each exterior angle
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11. HEXAON is a regular hexagon. Find the value x.

X=0°

For numbers 12 - 14, give the most descriptive name for each quadrilateral.
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12. 1Soedas Arepezod
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13. A quadrilateral with each pair of consecutive angles supplementary.
()CL,LCJJ\.L\ eI

14. A quadrilateral whose congruent diagonals are perpendicular bisectors of each other.
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15. Given rectangle MATH, MG = x+y+1,4G=2x+3y TG = 3x+6y+6 Find TM. g
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For numbers 16 & 17, decide whether the four

points form a parallelogram, rectangle, rhombus, square, trapezoid, isosceles trapezoid,

or kite. Use the most specific name possible. Justify your answer mathematically.
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18. Given: ABCD is a parallelogram 19. FHJK is a thombus, KM = 6 and MJ = 8
Find: m£D. Find the perimeter of the rhombus.
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20. Given that PQRS is a kite, find x. . 21. Find the length of EF in parallelogram EFGH.
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22. Given: BRAY is an isosceles trapezoid.
BA=13
IN=2x-1
NR=x+35
Find NR.
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23. Given: WOSB is a Parallelogram

23 =/4
MW =SN
Prove: IM =~IN
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24. Given: 21=£2 3/
L3 =214
Prove: ABCD is a parallelogram
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